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int x;
cout << "Enter a number:" ;
cin >> X;
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int Xx;
cout << sizeof x ;

cout << sizeof(float) ;
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inta=6, b=2, c=8, d=12;
d=a++ * b/c ++;
cout<<d<<c<<b<<ag;
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#include <
int main()

{

Y Joallygiws ;
¥ el ygims

n ol ygiuws;
return 0 ;

}




#include <
void main()

{

Vol ygiws
¥ ol g ;

N Joxdlygiws;
}
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#include <iostream.h>
int main()
{

cout <<"C++ is an object oriented language \n" ;
return 0 ;

}
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#include <iostream.h>

#include <stdlib. h>

int main()

{

char c1, c2;

cout << "Enter a lowercase letter:"
cin >> c1;

c2 = toupper(c1);

cout << c2 << endl;

return 0; }
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#include <iostream.h> \

int main()

{

float X,Y,S,pP ;
cin>>x>>y;

S$= Xty ;

p=X"y;

cout << s <<endl << p;
return 0 ;

}
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int x=10,y=20,b;
b=(x>y) ?x:vy;
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x>=10 ? cout << "passed" : cout << "failed" ;
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if(x 1=y)
{

cout << x;
++ X ;

}

else

{

cout <<y,
==Y

}




#include <iostream.h>
#include <math. h>
int main( )

{

float x,s;

cin >> x;

if(x<0)

cout << " x is negative" << endl ;
else

{

s = sqrt(x) ;

cout << s << endl;

}

return 0;
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if (x==3) [|(y !=0))
cout <<x << endl ;
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#include <iostream.h >

int main( )

d

float a, b, c;

cout << "Enter three real numbers' << endl ;
cin>>a>>b>>c¢;//

if((a<b+c¢) &&(b <atc) &&(c < atb))
cout << "It is a triangle" ;

else

cout << "Not a triangle" ;

return 0 ;

}
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#include <iostream.h>
int main()
{
int n,i;
long fact =1 ;
cout << "Enter a positive integer number";
cin >> n;
for( i=1; i<=n; ++i)
fact *=i;
cout << fact << endl;
return 0 ;

}
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#include <iostream.h>
int main()

{

intn, i=1;

longs=0;

cin >>n;

for(; i<=n; i++)
s +=i;

cout<<s;
return 0;}
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#include <iostream.h>
int main()
{
int j=0;
for(;j<=9;)

cout << j++ << endl;
return 0 ;

}
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while Josl)giws
do while feslygiws
break Josl,giws
continue Josll,gws

switch foxlygiws
cin.get() ~U

static cast<>() Sloc
b ,Slos <o glgl Jguor
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int x=0
while(x<5)
cout << x ++<< endl;
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#inclode <iostream.h>
int main()

{

intcount=0, n;

float x, sum=0, avg ;
cin>>n;[* 5959 polic sloxs N*/
while(count < n){

cin >> X ;

sum += X ;

++ count ; }

avg =sum/n;

cout << avg << endl;
return 0 ; }
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break Joxllygws
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#include <iostream.h>

int main()

{

float x, s=0.0 ;

cin >> X ;

while(x <=1000.0) {

if(x < 0.0){

cout << "Error-Negative Value" ;

break;

s+=X;

cin >>x ;}

cout << s << endl;
return 0 ; }




#include <iostream.h>
int main()

{

intcount=0;

while( 1)

{

count ++ ;
if(count>10)

break ;

}

cout << "counter: " << count << "\n";
return 0 ;

}




#include <iostream.h>

void main()

{

int count;

float x, sum = 0;

cin >> X ;

for(count = 1; x <1000 . 0; ++ count)

{

cin >> X ;

if(x <0.0) {

cout << "Error — Negative value " <<endl;
break ;

}

sum +=Xx;}

cout <<sum <<'\n’;}




#include <iostream.h>
int main()
{
float x , sum =0.0 ;
do
{
cin >>Xx;
if(x < 0.0)
{

cout << "Error — Negative Value" << endl ;
break ;
}
sum += X ;
} while(x <= 1000.0);
cout << sum << endl ;
return 0 ; }




continue Joxl,guwd

IS sledondl ygiws jo ylg 0 continu_e Jordly g
Joxdl y gimwd oy | .3 9—0i o5lazw! fOr «wWhile cdo while
J— 51,55 sledoallygiws slasl J 08 a5 09 0 sl

D345




#include <iostream.h>
int main()
{

float x, sum=0.0;
Do

{
cin>>x;
if(x<0.0)
{
cout << "Error" << endl;
continue ;

}
sum +=Xx ;
} while(x <= 1000.0 );
cout << sum ;
return0;}




#include <iostream.h>

int main( )

{

intn,navg =0 ;

float x, avg, sum =0 ;

cin>>n; /% c59)90luclslows jles,ben™/
for(int count =1 ; count <=n; ++ count)
{

cin >> x;

if(x < 0) continue ;

sum += X ;

++ navg ;

}

avg = sum / navg;

cout << avg << endl ;

return 0 ;

}
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Switch Joa)l jguwd 5 JSS

switch(w,L<)

case valueone : statement;
break;

case Vvaluetwo: statement;
break;

case valuen : statement;
break;
default: statement ;




#include <iostream.h>
void main()

{

unsigned int n ;

cin >> n;

switch(n)

{

case O0:
cout << "ZERO" << endl ;
break;

case 1:
cout << "one" << endl;
break ;

case 2:
cout << "two" << endl ;
break;

default :
cout << "default" << endl;

| * end of switch statement * /




#include <iostream.h>
void main()
{
unsigned int n;
cin>>n;
switch(n) {
case 0 :
case 1:
case 2:
cout << "Less Than Three" << endl;
break;
case 3:
cout << "Equal To Three" << endl ;
break;
default:
cout << "Greater Than Three" << endl;

}
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char X;

x = cin.get( );

switch(x) {

case 'r’':

case 'R':
cout << "RED” << "\n" ;
break ;

case 'b’':

case 'B':
cout << "BLUE"” << endl ;
break ;

case 'y':

case 'Y':
cout << "YELLOW"” << endl;

}
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int x[5]={4, 2, 5, 17, 30};
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int x[5];
for(int i=0; i<=4; ++i)
cin>>x[i];

t aglyl polie polio iules

for(int i=0; i<5; ++i) cout << x[i];
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int x[5]={12, 5, 7};
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int x[5] = {0} ;
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floatx[ ]={2.4,6.3,-17.1,14.2,5.9, 16.5} ;
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#include <iostream.h>
#include <iomanip.h>
int main()

{

const int arrsize =100 ;
float x[ arrsize], tot = 0.0 ;
for(int j=0; j<arrsize; j++)
cin>>x[j];

for(j=0; j<arrsize; j++)

cout << setiosflags(ios::fixed|ios :: showpoint ) << setw(12) <<
setprecision(2) << x[ j ] << endl;

for(j=0; j<arrsize; j++)

tot +=x[j];

cout << tot ;

return 0 ;
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#include <iostream.h>
#include <conio.h>
int main()

{

float x[20], s;

int j;

clrscr() ;

for(j=0; j<20 ; ++j) cin >> x[j |;
s=x[0];

for(j=1; j<20; ++j)
if(x[jl <s)s=x[j];
cout << s << endl;
return 0;

}
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#include <iostream.h>
#include <conio.h>
int main ()
{
float x[100], temp;
int ij;
clrscr( );
for(i=0; i<100; ++i)
cin >> x[i ];
for(i=0; i<99; i++)
for(j=i+1 ; j<100; j++)
if(x[j ] <x[i]
{
temp =x[j];
x[j1=x[i];
x[i]=temp;
}
for(i=0; i<=99; i++)
cout << x[ i] << endl;

#.lrno;
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int a[3][4];

0 (g T Oy 2 (g 3 (g
a[0][0] a[0][1] a[0][2] a[0][3]
a[1][0] a[1][1] a[1][2] a[1]3]
a[2][0] al2][1] a[2][2] a[2][3]
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int a[3][4]={ {1,2,3,4}, {5,6,7,8}, {9,10,11,12} } ;




int a[3][4]= { {1}, {2,3}, {4,5,6} } ;




int a[3][4]={1,2,3,4,5},;
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int a[ ][4]={1,2,3,4,5};
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#include <iostream.h>

#include <conio.h>

int main( )

{

float x[3][4], total= 0.0;

int i,j;

I/l generate matrix x.

for(i=0; i<3; ++i)

for (j=0; j<4; j++)

cin >>x[i][j];

Il calculate the sum of elements.
for(i=0; i<3; ++i)

for(j=0; j<4; j++)

total +=x[i][j];

cout << "total = " << total << endl;
return 0 ;

}
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return-value-type function-name (parameter-list)
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declaration and statements
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char low_to_up (char c1)

{

char c2;
c2=(c1>="a'&&ci1<="z")?2( A'+c1-"a’): c1;
return (c2) ;

}
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#include <iostream.h>
char low_to_up(char c1)
{

char c2;
c2=(c1>='a’'&&cl1<='z")?(A’'+c1-"a’): c1;
return c2;

}

int main()

{

char x;

x=cin.get( );

cout << low_to_up(x) ;
return 0;

}
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int maximum(int x, int y)
{

intz;

z=(x>=y)? x:y;

return z;

}
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#include <iostream.h>
int maximum(int x , inty)
{

intz;

Z=(x>y)?x:y;

return z;

}

int main()

{

inta, b;

cin>>a>>b;

cout << maximum(a,b);

return 0;
} \

maximum b slslegs,Ta, b
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x1=1*2%3%4* _*(x-1)*x

#include <iostream.h>
long int factorial(int n)
{

long int prod=1;
if(n>1)

for(int i=2; i<=n; ++i)
prod *=i;

return(prod);

}

int main()

{

int n;

cin>>n;

cout << factorial(n) ;
return 0 ;

}

main ,o n

3

§

factorial ;o n

3

factorial ,oi

2,34

factorial ,o prod

6
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#include <iostream.h>

#include <conio.h>

long int factorial(int); // function prototype
int main()

{

int n;

cout << "Enter a positive integer” << endl;
cin >> n;

cout << factorial(n) << endl;

return 0 ;

}

long int factorial(int n)
{

long int prod = 1;
if(n>1)

for(int i=2; i<=n; ++i)
prod *=i;
return(prod);

}
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#include <iostream.h>
#include <conio.h>
void maximum(int , int) ;
int main( )

{intx,y;

clrscr()

cin >> x >>vy;
maximum(x,y);

return 0;

}

.oa".b)f > ,_5)|A.5.o @U

void maximum(int x, int y)
{
intz;

z=(x>=y) ? x1Y;
cout << "max value \n" << z<< endl;
return ;

}
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#include <iostream.h>

int modify(int) 20
int main( /

{

int a=20; modify ,> a
cout << a << endl;
modify(a) ; 20
cout << a << endl;

return 0 ;

} modify ;o a
int modify(int a)
{
a*=2;
cout << a << endl;
return ;

40
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#include <iostream.h>

int modify(int) 20

int main()

{

int a=20; modify ,> a
cout << a << endl;
modify(a) ; 20
cout << a << endl;

return 0 ;

} modify ;o a
int modify(int a)

{

a*=2;

cout << a << endl;
return ;

40
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n !=1*2*3*...*(n-1) *n

f(n)=n!

1
f(n) = {n *f(n-1)

nl=1* 2* 3* ...

n!=(n-1)! *n

n=0 S
iy gady) &

*(n-2) *(n-1) *n
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#include <iostream.h>
long int factorial(int) ;
int main()
{
intn;
cout<<" n=";
cin>>n;
cout << endl << " factorial =" << factorial(n) << endl;
return 0 ;

}

long int factorial(int n)

{

if(n<=1)
return(1);
else
return(n *factorical(n-1) ) ;
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0,1,1,2,3,5,8,13,21, 34, ... oSl Lo

ol n 4 =fib(n)=
1

fib(n-1)+fib(n-2) &yl 5o
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#include <iostream.h>
long int fib(long int); // forward declaration
int main( )
{
longintr;
intn;
cout << " Enter an integer value " << endl ;
cin>>n;
r = fib(n) ;
cout <<r << endl;
return 0 ;
}
long int fib(long int n)
{
ifln==1 || n==2)
return 1 ;
else
return(fib(n-1) + fib(n-2) ) ;
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#include <iostream.h>
void reverse(void) ; // forward declaration
int main()
{

reverse( ) ;

return 0 ;
}
void reverse(void)
I/l read a line of characters and reverse it
{

charc;

if(( c=cin.get()) !="\n"’)

reverse( );
cout <<c;
return ;
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#include <iostream.h>
void modify(int [ ]); // forward declaration
int main()
{
int a[5] ;
for(int j=0; j<=4; ++j)
a[j]=j+1;
modify(a) ;
for(j=0; j<5; ++j)
cout<<a[j] <<endl;
return 0 ;

}

void modify(int a[ ]) // function definition
{

for(int j=0; j<5; ++j)

a[jl+=2;

for(j=0; j<5; ++j)

cout<<a[j] <<endl;

return ;
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#include <iostream.h>
void printarr(int[ ][ 3]);
int main()
{
int arrl [2][3] = { {1,2,3}, {4,5,6} };
arr2 [2][3]= {1,2,3,4,5};
arr3 [2][3]={ {1,2}, {4} };
printarr(arr1);
cout << endl ;
printarr(arr2);
cout << endl ;
printarr(arr3);
return 0 ;
}
void printarr(int a[ ][3])
{

for(int i=0; i<2; i++)

{

for(int j=0; j<3; j++)
cout<<alil][j]l<<'";
cout << endl ;
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#include <iostream.h>

inline float cube(const float s) {return s*s*s; }
int main()

{

float side ;

cin >> side ;

cout << side << cube(side) << endl ;
return 0 ;

}




gl &b 5l el by Jlast




gl &b 5l el by Jlast




#include <iostream.h>
int vfunct(int); // for
void rfunct (int &) ;
int main()
{
int x=5, y=10;
cout << x << endl << vfunct(x) << endl << x << endl ;
cout <<y <<endl;
rfunct(y) ;
cout <<y <<end
return 0 ;

}

int vfunct(int a)

{

returna*=a;

}
void rfunct(int &b)

{

b*=b;
}
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#include <iostream.h>
void fswap(float & , float & );
int main()
{
float a=5.2, b=4.3;
cout <<a<<endl<<b;
fswap(a, b);
cout <<a<<endl<<b;
return 0 ;

}
void fswap(float &x , float & y)

{
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automatic
static
external
register
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#include <iostream.h>

Il program to calculate successive fibonacci numbers
long int fib(int) ;

int main()

{

intn;

cout << " how many fibonacci numbers?” ;
cin>>n;

cout << endl ;

for(int j=1; j<=n; ++j)
cout<<j<<" " <<fib(j) << endl;
return 0 ;

}

long int fib(int count)

{

static long int t1 =1, t2=1;
longint t;

t=(count<3)?1:t1 +1t2;

t2=t1;

t1=t;

return(t) ;
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#include <iostream.h>
int w; // external variable
functa(int x, int y)

{

cout <<w;

W=X+y;

cout << endl << w << enld;
return x%y ;

}

int main( )

{

inta, b, c, d;

cin>>a>>b;

c=functa(a, b) ;

d=functa(w, b+1);

cout <<endl << c<<endl <<d<<endl <<w;
return 0 ;

}
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#include <iostream.h>
float addf(float , int);

int addf(int , int);

int main()

{

int a=5, b=10 ;

float d=14.75 ;

cout << addf(a , b) << endl;
cout << addf(d , b) << endl;
return 0 ;

}

int addf(int x, int y)

{

return x+y ;

}
float addf(float x, int y)

{

return x+y ;
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strempi(s1, s2) U




strcmp(s1, s2) U




strncmp(s1, s2,n) U




strcat(s1, s2) U




strncat(s1, s2,n) U




strien(s) ~U




strien(s) ~U




strcpy(s1,s2) ~U




strncpy(s1, s2,n) U







#include <iostream.h>
#include  <string.h>
#include <conio.h>

int main()

{

char *s1= "happy birthday”;
char *s2= "happy holidays ”;
clrscr( );

cout << strcmp(s1, s2) << endl;
cout << strncmp(s1, s2, 7) << endl ;
return 0;

}




#include <iostream.h>
#include  <string.h>
#include <conio.h>

int main( )

{

char *s = "computer”;
clrscr();

cout << strlen(s);
return 0; }
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(g5 , 5i2) polymorphism




(g &) inheritance







keywords and alternative tokens.

asm

enum

protected

typedef

auto

explicit

public

typeid

bool

extern

register

typename

break

false

reinterpret_cast

union

case

float

return

unsigned

catch

for

short

using

char

friend

signed

virtual

class

goto

sizeof

void

const

if

static

volatile

const_cast

inline

static_cast

wchar_t

continue

int

struct

while

default

long

switch

Xxor

delete

mutable

template

Xor_eq

do

namespace

this

or_eq

double

new

throw

not

dynamic_cast

operator

true

bitand

else

private

try

and_eq

And -- or

bitor

not_eq

compl




